=
Y = eco
@ PASS
PORT: :hager

Product Environmental Profile
Endcap for busbars KDN 2P/3P

erences covered

Company information

Hager KZN0213 ; KZN02130 ; KZN0233 ; KZN0243 ; KZ0593

132 Boulevard d’Europe
F 67215 Obernai Cedex
www.hagergroup.com

A question concerning the Product Environmental Profile: infopep@hager.com

Methodology

PEP has been performed according to the PCR version PEP-PCR-ed4-2021 09 06 and PSR version PSR-0005-ed3.1-2023 12 08 issued by the PEP ecopassport program.
For further information, please see the website of the program www.pep-ecopassport.org

Reference product

Reference product identification Protect from direct contact with conductive parts and ensure aesthetic finition for 20 years.

KZN023

Use scenario based on :

PSR product Category : PSR-0005-ed3.1-2023 12 08 The functional unit is based on the use scenario recommended by the PCR for the category of the reference
0 product.

PEP ecopassport 1/5 HAGE-01409-V01.01-EN



Materials and substances

All useful measures have been adopted to ensure that the materials used in the composition of the product do not contain any substances banned by the legislation in force at the time of marketing.

Plastics Metals Others
g % g % [¢] %
PAG6 0.64 23.9% Silicon 0.06 2.4% Paper 0.83 31.2%
PE-LD 0.01 0.5% Cardboard 0.80 29.8%
Glass 0.16 6.0%
Other 0.10 3.8%
Wood 0.06 2.4%

Total mass of reference product with raw material

packaging : 2679

Total mass of reference product
(Product + packaging)

System Boundaries

The environmental information included in the PEP covers all the stages of the life cycle, from "cradle to grave".

Manufacturing Distribution Installation (VETY End of life Module D
{2
f=
o ©° 73
5 2 = z 3 2
5 3 c c o = £ 2 20 5]
£ S S 5 53 3 S % S = 2
O o 5 = = c = © b £9 o 3
S c 2 2 eg 52 SS o g c L9 @28 s 2 & 22 g8
<G S < c @ @ =] Qe [} S S & c g = - E % & © >
o2 £ E S &5 56 8 <= 5 = £ = g 3 s 3 ] T = 8 2 o E
58| 2 | & 2% 8% 53 | & g 8 § | g |G| = |88 |28 | & 5 3
-_\_ — = - = ‘*—>
= £ = 2 Q> Q © 2 = 0 20 ® @5 @ w 2
Q5 by =] = O T D © T c ¥ = 7] =1 5 3 2 c o 3 ] 8o =
Tg | £ 5 B 3 3 58 g ) e 82 | e 3 E3 | €8 = %o
E5| % = [ £3 = = @ & e | e a 8| ge g2
> -
2 © © o 2 5 BN}
T & < < = = 2 o T 0 @3
& 2 = £ g © £ o > o
[ w = =2 >
[ %]
2 Q
ksl

B3 B4

Life cycle stages

Manufacturing Distribution
These products are manufactured by a site that has received an environmental certification The packaging has been designed in accordance with current regulations. In particular,
ISO 14001. the European directive 94/62/CE relative to packaging and packaging waste.
This phase takes into account raw materials, manufacturing processes, production offcuts The used packaging is 100% recyclable or recoverable.
and their end-of-life treatment, upstream transport of materials and sub-assemblies to the Packaging and logistic flows are continuously improved in order to reduce their impact.

manufacturing site, and transport from the manufacturing site to the final logistics platform.
This phase taken into account the transport of the finished product, including
packaging, to its place of use.

Installation

Installation processes
The processes to install the product are not considered in this study because of their weak impact compared to the other life cycles steps.

This phase only take into account the impact of the packaging waste treatment is taken account.

Installation elements (non delivered with the product)
Elements non delivered with the product and needed to install the product are not considered.

Power loss / load dependent Power consumption / not load dependent
Active mode Inactive mode Active Sleep phase Passive Sleep phase Turn off phase
Watt % of time Watt % of time Watt % of time Watt % of time Watt % of time

0 100% 0 0% 0 100% 0 0% 0 0%

This corresponds to a total energy consumption of 0.00 kWh for the use span of 20 years.

Energy model of the use phase :
Europe

Consumables and maintenance :
None

PEP ecopassport 2/5 HAGE-01409-V01.01-EN



End of life

Considering the complexity of the recycling channels for electric and electronic equipment impacts, we rely mainely on ESR modules (datasets for WEEE product end of life).

The recycling potential of the product is: 18%. The calculation of this rate is based on the method of the IEC/TR 62635.

Environmental impacts

Evaluation of the environmental impact covers the following life cycle stages: raw materials + manufacturing (RMM), distribution (D), installation (1), use (U) and end of life (EoL).

Al calculations are done with EIME software version 6.3.2-4 with the database version CODDE-2025-04 .
Indicators set : Indicators for PEF EF 3.1 (Compliance: PEP ed.4, EN15804+A2) v2.0

PEP representative of the covered products marketed in: Europe

Energy models considered for each phase

Manufacturing Distribution Installation End Of Life

A1-A3 A4 A5 C1-C4
Europe Europe Europe Europe

Environmental impact indicators

. . Manufacturing Distribution Installation Use End Of Life

Indicators Unit A1-A3 Ad | A5 | B1-87 | c1-Ca | GLOBAL | Module D
Acidification (PEF-AP) mole H+ eq. 2.43E-05 6.68E-07 6.01E-06 0.00E+00 4.16E-06 3.51E-05 -8.77E-08
Climate change - Total (PEF-GWP) kg CO2 eq. 4.39E-03 4.23E-04 4.75E-03 0.00E+00 2.09E-03 1.17E-02 -8.78E-05
Climate change-Biogenic (PEF-GWPb) kg CO2 eq. -2.31E-03 1.73E-09 2.85E-03 0.00E+00 1.33E-05 5.48E-04 -9.17E-07
Climate change-Fossil (PEF-GWPf) kg CO2 eq. 6.71E-03 4.23E-04 1.90E-03 0.00E+00 2.08E-03 1.11E-02 -8.68E-05
Climate change-Land use and land use change

kg CO2 eq. 5.04E-11 6.40E-10 1.41E-11 0.00E+00 5.74E-12 7.10E-10 0.00E+00
(PEF-GWPIu)
Ecotoxicity, freshwater (PEF-CTUe) CTUe 1.05E+01 1.23E-02 2.68E-02 0.00E+00 1.31E-03 1.05E+01 -4.29E-05
EF-particulate Matter (PEF-PM) necencest 1.83E-10 5.73E-12 3.52E-11 0.00E+00 2.97E-11 2.53E-10 -3.24E-12
Eutrophication, freshwater (PEF-Epf) kg P eq. 1.85E-07 1.58E-09 2.62E-08 0.00E+00 4.97E-11 2.13E-07 -4.40E-10
Eutrophication, marine (PEF-Epm) kg N eq. 6.32E-06 1.21E-07 2.46E-06 0.00E+00 1.40E-06 1.03E-05 -2.02E-08
Eutrophication, terrestrial (PEF-Ept) mole of N eq. 5.75E-05 1.33E-06 1.80E-05 0.00E+00 1.67E-05 9.36E-05 -2.56E-07
Human toxicity, cancer (PEF-CTUh-c) CTUh 2.05E-10 8.28E-14 2.10E-10 0.00E+00 3.27E-13 4.15E-10 -2.10E-14
Human toxicity, non-cancer (PEF-CTUh-nc) CTUh 6.26E-10 1.68E-12 5.80E-12 0.00E+00 3.70E-12 6.37E-10 -2.04E-13
lonising radiation, human health (PEF-IR) kg Bq U235 eq. 1.39E+00 1.50E-05 2.73E-04 0.00E+00 2.29E-05 1.39E+00 -1.52E-06
Land use (PEF-LU) No dimension 6.64E-06 1.81E-06 6.32E-06 0.00E+00 9.29E-04 9.44E-04 -5.60E-03
Ozone depletion (PEF-ODP) kg CFC-11 eq. 3.69E-10 5.13E-12 2.79E-11 0.00E+00 5.92E-11 4.61E-10 -1.94E-12
erpoopy Czone formaton-humanheall | g of NMVOC eq. 1.84E-05 4.30E-07 4.11E-06 0.00E+00 3.81E-06 267E-05 -6.52E-08
Resource use, fossils (PEF-ADPf) MJ 1.45E-01 7.51E-03 1.96E-02 0.00E+00 5.74E-03 1.78E-01 -2.97E-04
eeranre kg Sb eq 2.57E-09 1.51E-10 1.00E-10 0.00E+00 8.65E-10 3.68E-09 -1.56E-12
Water use (PEF-WU) m3 eq. 2.60E-03 1.52E-05 1.65E-04 0.00E+00 3.72E-02 4.00E-02 -2.05E-03
Resource use indicators
. Manufacturing Distribution Installation [VET) End Of Life

Indicators A1-A3 ‘ Ad ‘ A5 ‘ B1-B7 ‘ c1-Ca ‘ GLOBAL | Module D
Net use of fresh water 6.10E-05 3.54E-07 1.27E-05 0.00E+00 1.20E-03 1.27E-03 -8.75E-05
Total primary energy 1.71E-01 7.53E-03 2.22E-02 0.00E+00 6.06E-03 2.07E-01 -1.13E-03
Total non renewable primary energy 1.45E-01 7.51E-03 1.96E-02 0.00E+00 5.74E-03 1.78E-01 -2.97E-04
Total renewable primary energy 2.60E-02 2.37E-05 2.64E-03 0.00E+00 3.23E-04 2.90E-02 -8.31E-04
Non renewable primary energy used as energy 1.09E-01 7.51E-03 1.96E-02 0.00E+00 5.74E-03 1.42E-01 -2.97E-04
O e ERIE PIMAR CRSIAYSECES (El 3.58E-02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 3.58E-02 0.00E+00
Use of non renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Renewable primary energy used as energy 1.04E-02 2.37E-05 2.64E-03 0.00E+00 3.23E-04 1.34E-02 -8.31E-04
Renewable primary energy used as raw material 1.56E-02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.56E-02 0.00E+00
Use of renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Use of secondary material 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

PEP ecopassport 3/5 HAGE-01409-V01.01-EN



Waste category indicators

q 5 Distribution Installation (VET:Y End Of Life
Indicators Ad | A5 | B1-87 | c1-Ca | GLOBAL
Hazardous waste disposed X 1.06E-04 0.00E+00 1.59E-08 6.73E-04 0.00E+00

Non hazardous waste disposed 1.03E-03 3.92E-05 5.49E-04 0.00E+00 3.52E-07 1.62E-03 0.00E+00
Radioactive waste disposed 3.94E-07 3.11E-08 1.25E-07 0.00E+00 2.79E-10 5.50E-07 0.00E+00

Output flow indicators

Indicators GLOBAL

Manufacturing Distribution Installation Use End Of Life
A1-A3 A4 A5 c1-c4

Components for re-use 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Exported energy 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Materials for energy recovery 2.90E-05 0.00E+00 1.57E-04 0.00E+00 0.00E+00 1.86E-04 0.00E+00
Materials for recycling 5.40E-05 0.00E+00 1.43E-03 0.00E+00 0.00E+00 1.49E-03 0.00E+00

Biogenic carbon content

Packaging i Cardboard

Biogenic carbon content (ratio) 2.80E+01 3.78E+01 3.95E+01
7.97E-04 8.33E-04 6.40E-05 1.69E-03
Biogenic carbon content (declared unit) 2.23E-04 3.15E-04 2.53E-05 5.63E-04
Biogenic carbon content (functional unit) 2.23E-04 3.15E-04 2.53E-05 5.63E-04

ADEME APESA/RECORD EN 16485

Prod apoard Pap 000

a g 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Biogenic carbon content (declared 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Biogenic carbon conte ona 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Extrapolation rules

For each reference in this homogeneous family (see Appendix), the environmental impacts for each phase and indicator are derived from life-cycle analysis (LCA).

Verification

. . Drafting Rules PEP-PCR-ed4-2021 09 06
Registration N°:  HAGE-01409-V01.01-EN
Supplemented by PSR-0005-ed3.1-2023 12 08
Verifier accreditation N°:  VH65 Information and reference documents: www.pep-ecopassport.org
Date of issue: 11-2025 Validity period: 5 years

Independent verification of the declaration and data, in compliance with ISO 14025 : 2006

Internal @ External o

The PCR review was conducted by a panel of experts chaired by Julie Orgelet (DDemain)

PEPs are compliant with XP C08-100-1:2016 or EN 50693:2019
The elements of the present PEP cannot be compared with elements from another program.

Document in compliance with ISO 14025 : 2006 « Environmental labels and declarations. Type Ill environmental declarations »

Nota :

The picture has no contractual value.

All numerical values indicated in this document may vary and depend of many factors such as the tolerance related to materials, the usage and environment conditions of the products, installation characteristics ... , real values for a product in a
concrete application may therefore change.

The usage time mentioned in this document is an average duration chosen for the need of the calculations. This value cannot be assimilated to the minimum, average or real life time.

The responsibility of the company, issuing this document, can never be engaged if differences would be noticed between the values given by this document and real ones, whatever the causes and/or consequences would be.

PEP ecopassport 4/5 HAGE-01409-V01.01-EN



Appendix

-Epm) - [kg N eq.]

(PEF.

(PEF-GWP) - [kg CO2 eq.]

fossils (PEF-ADPF) - [MJ]

Exported energy - [MJ]
and use (PEF-LU)

ion, marine

human health (PEF-IR) - [kg Bq U235 eq.]

Materials for recycling - [kg]
(PEF-ADPe) - [kg Sb eq]

Total primary energy - [M.

Components for re-use - [kg]
Hazardous waste disposed - [kg]
Materials for energy recovery - [kg]
Net use of fresh water - [m3]

Non hazardous waste disposed - [kg]
Radioactive waste disposed - [kg]
Resource use, minerals and metals
Total renewable primary energy - [MJ]
Use of secondary material - [kg]
Water use (PEF-WU) - [m3 eq.]

s
g
¥

I
2
]
E
o
<
o
w
a3
=
S
®
S
b}
5
<

Use of renewable secondary fuels - [MJ]

Resource use
Total non renewable primary energy - [MJ]

Ecotoxicity, freshwater (PEF-CTUe) - [CTUe]
Human toxicity, cancer (PEF-CTUh-c) - [CTUh]
Use of non renewable secondary fuels - [MJ]

Ozone depletion (PEF-ODP) - [kg CFC-11 eq.]

Eutrophication, freshwater (PEF-Epf) - [kg P eq.]
Eutrophicati

Climate change - Total (PEF-GWP) - [kg CO2 eq.]
Renewable primary energy used as energy - [MJ]

Climate change-Fossi
Human toxicity, non-cancer (PEF-CTUh-nc) - [CTUh]

Climate change-Biogenic (PEF-GWPb) - [kg CO2 eq.]
Eutrophication, terrestrial (PEF-Ept) - [mole of N eq.]

Non renewable primary energy used as energy - [MJ]

Renewable primary energy used as raw material - [MJ]

Non renewable primary energy used as raw material - [MJ]
EF-particulate Matter (PEF-PM) - [Incidence of diseases]

Climate change-Land use and land use change (PEF-GWPIu) - [kg CO2 eq.]
lonising radiation

Photochemical ozone formation - human health (PEF-POCP) - [kg of NMVOC

= O
5 21 KZN023 2aveos| asvecn] 2svean| orreas| soseni| omeo| roseior| roseor| sseos| srmeos) ooveon] sosens| osero| szerof 1sseo| ssies| zoveos| soeos| sioeos| 1ovees]| vosear| sssene| sesero| rssero| roswos| soor| 1oseoo| rsneor| saseor| 2srens| vusean| vrrear| 2eoece| osoeico| osoeio] aoeio| 2eveer
2
o
& ] KZN021 vsseas| azreas| rosear] wrreos| 10| oooeio| wsoeoa| 1neon) szveon| ssseos| oonewo| asseas| wsoere| zwer| 1osos| roreos| roneos) csneos| arceas| vsveas| wwoece| soeer| swerr| osven| roreos| soveor]| saveas| sssens| rozear| rrsero| rozeor| roveor| raseos] ooveioo] ooveion) ooveien| 1rseas
3
=
s KZN024 2eas| soreas] 2sveas| roreas| szsen| omewo| 1siewr| zaeer| 7oeos| sseos) ooveion] sanens| 2zzero| raverof 1sseo| wzses| soveos| soveos| sasos| 1oreas]| 1svear| sorene| sssero| izero| 2veos| soeor| 1oveoo| 15ear] 12| suess| vrzean| svear| 2ese| asoeio| osoeio| aoweio| 2ezeer
KZ059 soveos| asecs] azsean| oroeas| rorerof omewo| rieor| 1oseor| oeos| sonos) oovin] 2oseas] szrero| siseni| vioeo| riseos| aweos| 12| raseos| 2ecn| vaseor| vasear| ariero| ssiero| sieos| suewr| o] wsreor] sueor| roness| suea| sssear| suser| osoeo| osoeio| soeio| suear
c <
53 KZN023 soncor| azeo] 1s0n| azsear] sscerof omeo| 12secr| rsseos| 12eer| 13vean) oovein] 1rrean] sumse] ssere] rsors| rores| osoeio] ooewo] ssieor| soueos]| steas| oomewn| sisere| srsere| ssoear| sveos| 2sos| o] rsteas| 1siess] rsreas| rsseas| 2sres| asoeo| asoeio] aoero] 1520
5
23 KZN021 seor| 1o sanesn] rssean] 2srerof omeo| soseos| sreo| aroeon| sozeer| ooven] sosear] ssumse] swers| ssses| riieer| osoeo] oewo] 10e0r| 1steos] 2sseas] oomewn| 2orere] 2zsee| rovear| 122os| oxeos| o] 2oneas) sszess| oseas| 2oneas| ssoess| asoeio| asoeio] aoero] soneas
=
® KZN024 ra0eor| asmeon] 1sreon] assean] asoerof omeo| 15seer| 1r0eos| 13iear| 1avean) ooven] 1orean] ssumse] 1roere] roreas| roses| asoeio] ooewo] sezeor| azseos] sveas| oomewn| sssere| swsere| sssear| ssseos| 2sseos| o] sveas| reseso] ssoess| srzeas| 2sses| asoeo| asoeio] aoero] 1eseos
KZ059 vssean| oriead] asseoo| srieod] oo owewo| 2sieca| suecs] arsear| sonean| ooneo| sorea| rores| soierr] sseos| wsrean] ooven] oonen| ssuear| oieas| rsece] soro| risers| 13| soeor| 7iueon] seseos| oomewo| rseae] sureo| rsecr] 17| saseos| ooveoo] oovean] oonen| ssieas
c
S < KZN023 soreas| arsecn] 2asean] rsoman| ureni| omeo| 2osecr| zoreos| 2uoron| 1ovos) oovein] roneas] 2somro| sswere] arseod] aseeos| rsreor] raseen| roreas| saseos] ronese] oomewn| reni| sszen| vess| raseor| 2sseon] o] 1onece] roneso] vonese] 2zzeae] zeseas| asori| asoeio] aoero] 1eseas
&
= KZN021 oooeo0] ooveson] ooneson| oonesan| oanesan| oanescof ocoeco| aoeio] oo soveeo] soveson] ooneson] oonevan| oanesao| osoescof coeico| asoeio] oo soveeo] soveson] ooneson] oooevan| oanesto| osaesof acoeio| asoeso] aoero] cooeoo] soveson] ooveson| osvevao| osnesto| nseescof asoeso| aoeso] aoeo] ooveeoo
]
2 KZN024 soreas| arsecn] 2asean] rsoman| ureni| omeo| 2osecr| zoreos| 2uoron| 1ovos) oovein] roneas] 2somro| sswere] arseod] aseeos| rsreor] raseen| roreas| saseos] ronese] oomewn| reni| sszen| vess| raseor| 2sseon] o] 1onece] roneso] vonese] 2zzeae] zeseas| asori| asoeio] aoero] 1eseas
KZ059 vrzeas| ssseas| ssseas| asseos| o] owewo] soneoa| asrecs] asseon] ssreas| ooneo| roseor] swreo| roseas| soveos| 1ioos| 2ot ssneas| coreas| roseas| sssece] ocoro| szens| ssven| roean] 2ot asoess| oomewo| ssseae] roreo| sssecr| 4sseor] 4sacos] ooveoo] ooveon) oovenn| sosean
S m KZN023 oooeo0] ooveson] ooneson| oonesan| oanesan| ounescof ocoeco| aoeio] oo soveeo] soveson] ooneson] oonevan| oanesao| osoescof coeico| asoeio] oo soveeo] soveson] ooneson] oooevan| oanesto| osaeiof acoeio| asoeio] aoeio] covesoo] soveson] ooveson] oovevao| vsnesto| nseescof asoeso| aoeio] aoeo] ooveeoo
:
s
o KZN021 sooeo0] ooveson] ooneson| ooneson| oanesan| ounescof ocoeco| aoeo] oo soneeo] soveson] ooneson] oonevan| oanesao| osoescof coeico| asoeio] oo soveeo] soveson] ooneson| oooevan| oanesso| osaesof acoeio| asoeso] aoeio] sooeoo] soveson] ooveson] oovevao| vsnesto| nseessof asoeso| aoesof aoero] ooveeoo
KZN024 aooeo0] ooveson] ooneson| oonesan| oanesan| ounescof ocoeco| aoeio] acoewo] soveeo] soveson] ooneson] oonevan| oanesao| osoeicof coeico| asoeio] oo soveeo] soveson] ooneson| oooevan| oanesto| osaesof acoeio| asoeio] aoero] soveoo] soveson] ooveson| oovevao| osnesto| nseessof asoeso| aoeso] aweo] ooveeoo
KZ059 sooeo0] ooveson] ooneson| ooneson| oanesan| ounescof ocoeco| aoeo] oo soneeo] soveson] ooneson] oonevan| oanesao| osoescof coeico| asoeio] oo soveeo] soveson] ooneson| oooevan| oanesso| osaesof acoeio| asoeso] aoeio] sooeoo] soveson] ooveson] oovevao| vsnesto| nseessof asoeso| aoesof aoero] ooveeoo
O <
23 KZN023 wocon) 200ecn] 1eos] oomean| sriere] omeo| 1siees| asrert| 1aoeos| 1oreas) oovein] 1ssean] saress| swere] 2zes| smeos] asoeo] wewo] 1a0eas| sszeer| srueas| oomewn| ssreni| zoren| ssreos| 27| saseon| o] sreas)| sesero] srueas| someas| szseas| asoeo| asoeio] ooero] sreear
- 7
gty
50 KZN021 sooean| 2s0e0n] 1sceos] 2srean| 7ssere] omeo| 1s2es| ssseo] 1rseos| soueos) oovein] 1onean] sosers| assere] arieas| 1ioes| asoewo] ooewo] 130e0s| asoeor] sszeas| oomen| ssseri| suseni| soseos| swe] srseon| o] sszeas) saseso] sscess| ssseas| arseos] asoeo| asoeio] aoero] sovear
el
2 KZN024 soveon) 200e0n] 1oneos| csoman| 7sere] omeo| roses| sreni| 1rseos| soveos) ooven] 1oneon] sosers| aszere] zoreas| rises| osoeio] ooewo] 1aeas| asneor| ireas] oomen| aseni| areni| sroes| swseo] soscon| o] 7ireas| soneas| 7ireas| rsseas| souen] asori| asoeio] aoero] 4ssear
KZ059 saican 1onecn] asreas] 1orean] 1oreni| omeo| soses| ssocos| 2seon| 2ieas) oovein] sioean] vonere] viseni| oseod] ssrees| asoeo] ooewo] soveas| 1ueos] srzece] oonen| 2ssero| ssseni| szess| swreo] 1s2eas| o] svce| rsneas| sroeae] szseae] rezeas| asoeo| asoeio] aoero] 1ear
2 KZN023 s7e00| s7ae0s] s17e0r] ssseas| oonesan| osmesco| 4zves| 4ser| 2oreon| 2sear] coven] oovean] 2somse] comers| szeas| ssors| asoeio] awoewo] srsas] ooven] 257e0u] oonean| suere] szvere] aszeos| asoeio] ssieos] o] 2e0s] vssere] 2oreae] sseas| asieas] asoeio| asoeio] soero] 2ovear
2 KZN021 szo0| soneos] 1s2e0n] 25220s| oonesan| osmesco| 20ses| s3] soeoo] 110207 coveon] ooveon] soners] soere| 2zreas| ases| asoeio] awoewo] ssveas] soveon] sezean] oomean| osere] ruere] 2ose| asoeio] 23| o] szeen] 71ess] sszeae] srsean] 2sseas] asoe| asoeio] aero] 4svear
s KZN024 10207 11001] 115000] 1onean] oonesan| ounescof ssses| se0| 2sseon| 520007 coveon] ooveon] 2suese] 2ssers| rooea| sooeas| asoeio] awoewo] 4o0eas] coveon] s72204] oonevan| usere] aosere] asses| asoeio] soseen] o] 37208 rstere] srzeae] sreas| roneas| asoeico| asoeio] soero] 2stear
KZ2059 15000 200e03] osneos| 2ssman| oanesan| osnesco| 210e02| soieas] 1m0 100005 coveon] ooneon] 2ruers| voseri| sosea] azseor] asoeio] awoewo] s ooveon] 120e0r| oonean| 77| ozeof aroess| asoewo] 1205 coveoo] 12060 1sseso] vznear| zrean] zses| asoro| asoeio] soero] sorear

PEP ecopassport 5/5 HAGE-01409-V01.01-EN



